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SA: EHe
Hu: FH0 2HA|
BHel =B A3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 8,000 17,400 29,400
01 Al&H| 8,000 17,400 29,400
OXlelah =diz2 2t34 3
600,000 *50H A 3,000
O3l® Wiz AU |zl
2,500,000 21 5,000
405 KHaHE SH 5,500 1,500 4,000
01 AL =S F=H 5,500 1,500 4,000
DIA CDIS=ZAD| 7Y
5,500,000 = 1CH 5,500
Asggiizd 9,234 9,234 0
301 EtE N = 9,234 9,234
06 A=LHUHAHIXIZ 9,234 9,234
O=d N=ddl 23 9,234
- AESUBU 2E 1,821,000 *4=2 7 7,284
- NESLHU D= 1,950
sclgtd2g 118,020 109,690 8,330
301 EtE NS 118,020 109,690 8,330
o7 8801 - H¥Es243 109,740 109,690 50
oolE JiE=¢ 300,000& «23& 1201 & 82,800
O01d 0= 300, 0002 *23% *200% 13,800
O0IE 3o&aeat
20,0002 x23S * 124 2 +23] 11,040
Ooery 243 25,0003 42 *22] 2,100
14 IIEt2 83 8,280 0 8,280
ooy stle=s 30,0003 x23H*12& 8,280
A ZAKRA 14,680 24,680 10,000
201 er=23y| 10,000 20,000 10,000
03 A= I 10,000 20,000 10,000
OXlelat dt=53 = 10,000,000& *12] 10,000
301 22N = 4,680 4,680 0
11 AALEIXIES 4,680 3,680 1,000
CeolE2Usl 20,0002 »25& 500
O0IE(28) M=zl 60,0002 x23% 1,380
OZEMIEAL 1,000,000& %12 1,000
OJIEFHAL 800,000& *12] 800
Os2H X 1,000,0002 %12 1,000
ABIH=UE ¥ 2ASHA 11,000 0 11,000
201 el 11,000 11,000
03 A= &I 11,000 11,000
OAMEH=U= 11,000
Mol & THEH 2kel 24,000 24,000
THOH A Ofl'gd 24,000 24,000




2A:

FH

S Mol & e 2tel
Sl IO He ol (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
KoMt ol & =2 XA 24,000 24,000
201 er23 | 24,000 24,000
01 At2teltl 24,000 24,000
Oses+ itz 3,000
Odtd =Al2c &l Sxz 21,000
TN HZ=H I 45,660 42,950 2,710
=HH Jl=2| 45,660 42,950 2,710
= Jl=Z3H 45,660 42,950 2,710
201 er23 | 9,900 9,950 A50
01 At2teltl 2,900 2,950 A50
OFFd M2 25,0002 1162 2,900
02 S3=gHl 7,000 7,000 0
OAIZ2 &= X 2,000
Ot 5,000
202 04| 24,600 22,800 1,800
01 SLHoIH 1,200 1,200 0
O=HxHI 1,200
02 A0 23,400 21,600 1,800
OZA04H| 150,000 x 13 * 123 23,400
203 HR=AH] 11,160 10,200 960
01 J 2= HRFA| 7,600 6,600 1,000
(OPJEC sopeches B oatSlal 7,600
02 HRAJMAHARFAI| 560 600 A0
Ot =] 40,0002 14 560
M EA2ER=AH 3,000 3,000 0
ORNEgeE =AY 250,000 122 3,000




